W
2-S1Xt
Cl
J
M 2-S3
Wi
SHZ
SME LM —R~fiE
EORE =1 & f=ay NN VA= P &@LU
M W L B B, C Si Xt SeX{? FUSs
SH 3UU 14 10 13 — 8 3 M3 X 6 M3X%x5.5 M2
SH 4UU 16 12 15 — 10 3 M3 X 6 M3 X 6 M2
SH 5UU 18 14 17 — 12 3 M3 X6 M3 X6 M2
SH 6UU 22 16 24 18 9 5 M4 X8 M4 X8 M3
SH 8UU 26 20 27 20 10 5 M4 X8 M5Xx 8.5 M3
SH 10UU 32 26 35 27 15 6 M5X10 M6 X 9.5 M4
SH 12UU 34 28 35 27 15 6 M5X10 M6 X 9.5 M4
SH 13UU 36 30 36 28 16 6 M5X10 M6 X 9.5 M4
SH 16UU 42 36 40 32 18 6 M5X10 M6X10 M4
SH 20UU 49 42 44 36 22 7 M6 X 12 M6X12 M5
E)BREIEOY F—F AT N TS . 80CZZ X DIBEDEAIFET T EE L.
CHEEICKIDMEMECENZAT Y VAR Y Z7 T v Y aLM-MGREBAD F T
HEDBUZ7 J vy a(CLDFUREH]
HEDBUZ7Jvya | FUREHI
MY —)UgE SH 13UU | Z#EEmR
U—ILIEL SH 13 | ZF&ER
ATV ASEmY—)U4E (SH 13MUU| ZFEEm
@Yo 0—REFIZAILYART
A4-66 AnAIXK BT EEREL TS https://tech.thk.com




